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Note: Answer any FIVE full questions, choosing oNE full question from each module'

Module-I
a. Explain playfair Cipher Algorithm.ffidE-Ciphertext for plaintext : "instruments" with

key: "MONARCHY". ",r,, ,r ^ 
(10 Marks)

b. Explain with neat diagram Feistel€$her structure for Encrptiti'n and Decryption' (10 Marks)

' !,",' 
'i',' OR

2 a. Explain Hill Cipher Algoriftm. Using Hill-Cipher perform encryption and decryption for

[,7 n :l
plaintext = "payrloretniiney" using keV K = 

| 
zr 

': i: I 
(10 Marks)

L2 2 !e)
b. Explain with neat diagram DES encryption algorithm. (10 Marks)

lVlodule-2

3 a. Explain RSA:algorithm. Using nSA algorith* perform encryption and decryption using

Seventh semester B.E. Degree Examination, Jan./Feb.

k:6, M= 17, Xo =5 andYa= 3'

b. Explain the requirements and applications'for public key cryptography'

Module-3
5 a. Explain the concept oIPRNG bu,.d offiF..

t rxpuin the distribution of public keys with public keyrAuthority.

OR

Explain with neat diagram control vector encryption and decryption.

rxpuin distribution of,pqbtic keys using putlic key certificates-

Mo'd'ule-4
Explain X.509 ce4ifi8ate format. 

,:

nring out the diffeiences between.Keiberos version 4 and

technical deficiencies in KerberoS'v€?iion 4 protocols'

OR

7a.
b.

8a.
b.

9a.

10 a-

b,

Explain PKIX architectural model.

fxpUin with neat diagram the key components of Internet Mail Architecture'

Module-5
Explain the benefits and applications of IPsec'

rxptain the IP traffic processing for outbound and inbound packets.

OR

Explain ESP Packet format.

Explaintheconcept * * * *,r

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

ffiW
Gryptography

Time: 3 hrs. Max. Marks: 100

p : 17, q*11, e : 7 andM : 88' (10 Marks)

b, [*piuirbiff,e-Hett*an key exchange algorithm and also show that the calculations produce

the identical results.
(10 Marks)

19, o=10,
(10 Marks)

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

OR

4 a. Explain Elgamal cryptosleiem. Perform encryptionltion and decryPtion usmg q :

18C5744

2023

(10 Marks)

version 5 and also mention the
(10 Marks)


